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The grammar

the present tenses

dcjlanll glojul

present simple bl gjbj.all
The function : to talk about events that happen regularly

keywords : every-always-often-sometimes - never-seldom-once-twice

form : she -he -it = vs/es they we you =vi

negative : she-he-it =doesn't + vl they we you = don't +vi

present continuous joiwonll ¢l nll

the function : to talk about event that are happening at the moment of




speaking
kevwords : now-at the moment -look!-listen!- watch out!
form : she -he -it =is + ving you we they are +ving

negative : she he it isn't +ving they we you aren't +ving

present perfect

the function : to talk about achievements

kevywords : since -for -already -recently -yet -never -many times -just
form : she he it +has+v3 they we you | +have +v3

negative : she he it +hasn't +v3 they we you +haven't +v3

the present perfect continuous

the function : to talk about an activity which continues over a length of
time algb Guinj danl (igasil 4 jiwlg Ol 6 12y blid g juoill
keywords : since - for -all -how long ? ¢l1all Jud JgSy dalcg

has or have

form: she he it +has been +ving they we you +have +been +ving

negative : she he it +hasn't +been +ving they we you +have +been +ving

the past tenses

duosLall Glojiil

the past simple bl u.DLD.II

the function: to talk about something that started and finished in the
past

form :s+v2 /| s+did not +vi

keywords : last-yesterday-ago-in past history §gm1 Q! Aliw




the present continuous : poiwnll Hloll

the function : to talk about activities that continued for some time in the
past

form = s+was/were v ing Jujai plad (sqdl

kevwords : as while when

the past perfect : plill L,z:)LL)Jl

the function : to talk about events in the past which happened before
other past events

form s+had +v3 Clwawgoll SuS
key words : before after by+auHlo 6Ll Sl

the past perfect continuous : poiwnll plill U.DLL)JI

the func tion : The past perfect continuous corresponds to the present perfect
continuous, but with reference to a time earlier than 'before now'. As with the present
perfect continuous, we are more interested in the process.

form = s+had +been +ving

key words : when for because looked seemed by the time before SI}.dJI Jud dalegq

had

L8l U1 Gl g GSIol Gle Jos] uglign sle Sgll il Sliwl GLid gili
Gyjalsidl Gall Galal
glojul aclgdl Jufui



When -while-as before — by the time -after -because = had +v3 Jl 52 s sa ZulS 132
G Lghaa g 13 last ago yesterday -past history = v2 /didn’t +v1
Was /were +ving since for yet just already recently = has/have +v3

JA Zaaa g 10 1l ¥ G ge S5 A 1A | daily sometimes usual weekly often always = v1/ vs

V2 now look! Watch out ! listen ! at this moment =is/are+ving
Caaa g 1) I3 1 pean 5 gl a3gd Allall LA Ll g0 Jla gl ala gl S Ciaa g 130 g1 Al J8
Been + ving

PVOVVVD

ive Verbhbs

Lu4g 359l aacld Laid ulisll Jlioc Laspil S« S ulsdl 48 Gacldlle 4.
dsisdl jad e labuygl Sy Ll gw (Sl ... Jgill 2g0i Lalgolg adisks

wlisJl Jlio
| asked someone to fix my car
| had my car fixed

J923Jl cuus have jgo (o djgrg ask Jiowiwi-1

Ask asked will ask

has/have had will have

QST dlos 6 pwl 351 .. aj Jgodoll Jljil-2

to 29y 9gg.0ll Joall Clill wanill 95g-3



JhAu

danl sacl3( gsk)
She asked someone to chapge the car

She

Y -
Has /have/had/ will have /+0+v3

Speculation
I'm sure it's raining outside .
It must be raining outside.
perhaps Sami's phone is broken .

Sami's phone could be broken .

Sle Jidall 23¢9 Jgul oed pUS (6 Lo asHIg i) Glos

Must | sure-know-certain

could

unsure -think-uncertain-perhaps

aludllg 3 (aasi gl
&Il D e il SA dosall J i Lyild

islare = be was /were=have been a2j=ig Joall Jig=i



perhaps Sami's phone is broken .

Sami's phone could be broken .

‘;U&Yﬂaﬁjdj\ﬂwgul'xqihﬁ“buual%

alaliy el Gl Yl | must sure-know-certain
Al e adde il Al Gesdl U3 | could unsure -think-uncertain-
) R perhaps
was were = have been / is are =be =ai: .

i Cypali alead LS

o bligatioi

Obligations
It's necessary to have to
It isn't necessary to don't have to
you are allowed to can
vou aren't allowed to mustn't
should If l were you, | would



)l Apal
It's necessary to have to
It isn’'t necessary to don't have to
you are allowed to Can
you aren't allowed to mustn't
should ss=s Angaila Jsy | If I were you , T would

you are allowed to move.

If clause
If + S + simple present ..., S + simple present = type zero
If + S + simple present ..., S + will + base = type one

If + S + simple past..., S + would + base = type two

The reported speech

S ... jSj Gololl cllioiil JIxD 4 Lo gLe guy jSipally e 28 il Lolis b Lis]
o8 PUALT (SGEI el s ADUQILA 455 i) glsiowl ade ¢lop S

I= he or she | we they /me him or her| us them |[my his, her/ our their

am\ is Was/ are were/ was\ were had been/ play Played/ Played had

played [will Would

can could |has\ have had/ don’t \ doesn’t




didn’t | didn’t - base hadn’t + p.p

Adverbs =yesterday the day before [ tomorrow the day after [next week
the week after/ last week the week before/ now Then [tonight that night/

at the moment at that moment

1." 1 don’t make mistakes in the exams" .
RANGA SAId tNAT ....ueneeeeeeeeeeeeeeeeeeeeereeeeeeecvesaeenns
2.Wedidn’t fly to Aqaba last night .

The students said tRAL .........eeeeeeeeveeeeeeecreeeeerennen.
3." My uncle saw a terrible accident yesterday ".
Ahmed SAid tRAT ...t
4 ." It was raining heavily this time yesterday " .

HE SAId TNAT wuueeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeresessesessssnns

ZalS 535 e (35ST 5 Aglins Alag s Aysle Klag dpm s IRE se Jpalall 2SS Sas\E el

I = he /she
My = his / her el e e I Wy
Dty bl e
Me =« him /her OG- RSN (g [ Y
We= they vl - v2
Our =their v2 = had+ v3

Us = them

Is-was-had been
Are — were -had been
e U:e. car Am was had been

7;‘;7 Has /have- had
[+ Oev3 wWill ~-would
Can could

Shall — should
May — might

Must -had ta




V1/vs = is Jare + v3
V2 = was /were + v3

Has /have +v3 = has
/have +been + v3

Had +v3 = had been v3

Is are +ving + is /Jare
+being +v3

Passive voice:

10

He spoke Englsih

English was spoken

Used to

Hilgall ol

BE USED TO

USED TO

IS ARE AM +USED TO +N/P/V

S+USED TO+V1

WAS WERE +USED TO +V/N/P

S+DIDN'T +USE TO +V1

She was used to English

10

1- speaking 2- speak 3- spoke
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Groiwo dlla Glols @lsil acl dlos Js g Lol
normal customary accustomed usual familiar habitual
Its
G roiwo dols
she he it +is+used to +ving
they we you +are +used +to +ving

JJLg it was
itwas + G@roiwo GolSs
she he |l it +was+used to +ving
they we you +were +used to +ving
Its normal for Ali to speak English.
Ali is used to speaking .
dohdinll dacldll jc Loi
used to
(past habit, when ,former, but now )
1-1Its + dohdio Gols
S+used to + vi
2-itisn't+ dohdio 4nls

S+ didn't + use to + vi

11
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LK) sule) s aa)

Normal

Familiar it is + Audl ClalSH e B jaiee 44S + for +S +to+vl e U0 Aadaiie S 038
Customary S +is / are + used to + ving . when —past habit
Habitual it was + 4ilu 5 paiiue Alls 48+ for +S+to + v1 former but now
Accustomed S + was / were + used to + ving Used to /didn’t use to

cleft sentences

duac uSIH Lauwd pasiuy .. oSl 40 sj5 LLe juS il Laoasiud ddjisil Joasdl
it u jljgll ing gl gd Lalgi

Ali spoke English yesterday

It

was grai (ololl wySip o Goil gis 13] -1
is Qi Lol S gUs 13]
Jelall ggSy §)ljgll boill cuusg WLE g@g aule Syl alpoll Jijil-2
that Jogll dlai 959 -3
aule Syl pi Lo Ia.¢ s i JS Jljil -4
was Ali that spoke ENGLISH YESTERDAVY

ALl gsill e Md 12 dofoll dulill ol Lol

Gpodl JS e als ayig Jolis Jiio [ae

12
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Jack played football in the garden yesterday to be better

THE PERSON WHO

played football in the garden

vesterday to better was jack

THE TIME WHEN

jack played football in the garden

to be better was yesterday

THE PLACE WHERE

jack played football to be better

vesterday was the garden

THE THING WHICH

which jack played yesterday to be

better was football

THE REASON WHYVY

jack played football yesterday in

the garden was to be better

13




14

(Non-definite clause)
AUan 20 33E L 55 3l Uadl JF Thaslaall Jpa 2 all Uidaad
1A JU e 3 Seal B Cu 333adl o Jea B
Chaldren, whao like sweets so much, often have
problems with their teeth. ) <
SShlen agdl pgasan s «Sily slall O saay JABY1 fsan 1 a0 Alandl 234
Cissag JUELY) (all) seax dead s Jlbl ol Jaay A U agdlid B

Sl glaly
Who (.03 AN 531) = alalVl a Sl y
+ 1 know the man who bought your car.
A e 5 SN 3D (el Jal b st
+ The plavers who have joined the team lately are good.
S a B AL | gaiall Cpdll (Leldll) Sas S
Which (...CudlV/ A0/ s e Badl e ol / 2V ae Jaadedy
» Majeda read the book which I gave 1o her.
Sl hdeel 30 (JBle S gil/e 0) ST Saala D B
* Huda liked the cars which she saw vesterday.
Whose (Al o3ty
Ala e 451 gl ke 53 5 adl ASla gl OF 20 Ledic Janiod
A
The woman, whose bag was stolen, 1s a doctor.
Apasle (B jan (ASLS LipZ) Lgtian S0 <31 a0
1 met the doctor whose son 1s my friend.
: (s Ao A2) 4551 A asdall AR
Where (<) 0SSl an Jaaidy,
+ There 1s a big market where you can buy anything you
wanit.
B S S ) 5 RS O alis Saa S ((ASa) (35w SUa
that: (A s )melel¥l 3/ Oalaly) g Jadudy
« The man that is standing there 1s my father.
= The jacket that I bought yesterday is expensive.

A S AT, S A (JBe e Ve pl) SuSial

Aadiial Sl s A g gall ilaald
1 The Egyptuans built the pyramids.
It was the o caiaainecaasa
2 London 1s a huge city. It's the capital of the UKL
LOBAOM,  ccacciiiciicciacacaccssssassscanas
3 The boy broke the window. He ran away.

The Future Continuous joiwn JuGiwn
S+ will + be +v(ing)
Who will+be + v(ing).....?

Will + s + be +v(ing)...? -

h.a.s d&o®il Jdi

This time next year, they will be preparing for their final exams.

- What will we be doing in ten years’ time?

14
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-l will be having a bath when you call me tomorrow.

- 1 will not (won’t) be having a bath when you call me tomorrow. The Future
Perfect pli Judiuwo

will have +v3

Wh + will +s +have+ v3...?

Will + s + have + v3.....2

- By 2019 CE, the new motorway will have opened.

- we’re late! By the time we get to the station, the train will have gone.

1. This time tomorrow, we’ll be celebrating because we ............ our exams.
(finish)

2. This time next month, my parents ............ married for twenty years. (be)
3. The books that you ordered. ........... by the end of the week (not arrive)

4. By the next yeatr....... vou ........... England? (visit)

1. will have finished 2. will have been v3. will not have arrived 4. Will, have

visited

Past Perfect Continuous Gacldll yoiwnll plill Ololl :

S+ Had been +v(ing)

| R for five hours by sam this morning. (sleep)

2. By the time | was ten, I ............ the piano for four years. (play)

3. By the time my friend ............. me, | had been studying for three hours.
(phone)

-By the time ...... V2 ... , ....had + v3.......

-By the time ...... V2 ... , ....had + been +v(ing)....... [for

-By the time ...... vl ......... , ...Will + have + v3 .......

15
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Gerund and infinitive

want/ wanted Afford Plan ..............ueeeueeeennnee. =to+Vv1

Hope Intend 125 pl#
alll sLib gl (Gr6gill gloal wigs Jigw ddyb Lle pogaill gy pi

texts yogr il

THE HISTORY OF COMPUTERS

1. Who developed the world wide web? aSub Jgi jgb o
2. There are two machines can do the same work as mobile phones . Write them down.
05 )53l ggalill Jac  Sguuis Crul
3. There are two invention were completed in 1940s. write down these two inventions.
Owls et s LAl &% @lniSoll Glelisal
4. Write down the sentence which indicates that the size of the first generation of the
modern computers was so large. ps5 sz Jgl o35 @il I 58 il Alosdl guyidl
5. Quote the sentence which indicates that the first computer program was very slow
ek qeolipy Jgi @il I s il Glosl guyddl

6. What does the underlined phrasal verb “rely on” mean ?

A s 100 g

16
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7. Find a compound noun in the third paragraph which means ‘a flexible, removable
magnetic disk that stores computer information’
8. What do the underlined words (pronouns) refer to?
alols jilas
9. The writer states that the World Wide Web was developed in 1990. Explain this
statement
mentioning three benefits of using it.
JU cyghag duid! ail LSS wdlSdl 1990 G Cuiplidl GSul Leadlga dle
10. We rely more and more on computer technology. Think of this statement and ,in two

sentences , write down your point of

view. lilasy clyly bclg jS.0 WsSgLSil L 20iQ) 4=i

Gl
1. The British scientist Tim Berners Lee. pii _ilbaydl piloll
2. Watches and glasses.Jljliaiq dlchw
3. the first generation of modern computers and the first computer program. jo Jits Jgl
gl
4. One such model was so large it needed a room that was 167 square metres to put it
inpso gls gagoil i
5. It took 25 minutes to complete one calculation. 441G 25 Al
6. to have trust or confidence in something or someone G4di
7. floppy disk Jpo yopd
8.it:a computer | their : most people | which : watches
Critical thinking :
1. People use mobile phones every day for many purposes such as calling, internet taking
photos,
watching films and listening to music.
2.1 think that we rely more on computer technology . For example, computers have

enabled us to

17
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do many great things, but becoming overly reliant on technology is not a positive aspect

of this development

Using technology in class

1. There are many purposes for using the Internet in the classroom by teachers. Write
down two of these purposes. Aliwil] varl L,a Gl 12Sduwl (o o Jl@

2. Write down the sentence which indicates that it is necessary for the teacher to be a
part of the group of learning. Jlcgso g0 «js plooll o5 S)gu0 ail Sl % il dlosdl guwidl
ploiill
3. There are two benefits of exchanging emails in education. Write down these two
benefits. & quu <Yl Jalui ajlga
4. Students can communicate with other schools by many ways. Mention two of them
wujlanll 9o Joli LAlds go ook Ale (§by 1giolgly wdill
5. Find a word in the fourth paragraph which means ‘ a regularly updated personal
website or web page usually written in an informal style’ jAdill va dols a2
6. What does the underlined phrase’ social media ‘- mean?

7. What do the underlined pronouns refer to?

8. Quote the sentence which shows the various benefits of using tablets.

SSQUI LA 555 aflga 6 ail o Gl ALl Juidl

18
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9. The writer states that digital information can be used to educate people .Explain this
statement , suggesting three ways in which people can benefit from this kind of
technology.
10.Young people love learning. Think of this statement and , in two sentences , write
down your point of view.

AnswersJllsl
1. to show educational programmes - to play educational games wlQlillg Z,gol;._dl =)ty
2. The teacher must be part of the group, too, to monitor what is happening _1¢ w=y
acgozoll 4o <= gg9si gl plooll.

3. Students can then share information and help each other with tasks. jgoihiwy wihll
Giloglooll @S jLito

4. They can exchange emails and talk to people over the computer using cameras
5. blog digao
6. social interaction between people and communities on websites or blogs.
7. they : young people [ their : teachers | who : students | them : computers.
8. Therefore, students can use the tablets to do tasks such as showing photographs,
researching information, recording interviews and creating diagrams.

9. Digital information can be used to educate people in a variety of ways. For example,
you can listen to podcasts and lectures online, or use apps on a tablet to learn
languages. You can also use the Internet to find information on what you are studying.
10. | think that young people love learning.

For example , large proportion of young people are students so we should encourage
them to keep going by introducing advance technology in our schools and get rid of old

methods .

19



The Internet of Things

1. Quote the sentence which indicates that computers will run our lives?
bl »2 ) WSl @il I 8 il oSl uudGl
2. According to the text, your future fridge can do two things. Write them down.
dulle @Syt gw as Uil (SGuudy g
3. Watches in the future can help people in two ways. write down these two ways.
ulill aclu 7y =S Wdiun Squu 7 gur aclul
4. Write down the sentences which indicates that a lot of people are satisfied with the “
internet of things”
LY QU € o)y guli S @il T o+ il Aol guyidl
5. Criminals can commit two crimes by using the “internet of things. Write them down.
L) Ll pIasSiwly cwosd) peSin Tl Gl dsessd guil
6. What do the underlined words ( pronouns) refer to ?
7. Find a phrase in the last paragraph which means ‘controls available on computer
programs which let you protect your computer from viruses’
8. Read the quotation. Do you agree with it? Why | Why not? “Technology is just a tool. In
terms of
getting the kids working together and motivating them, the teacher is the most
important.” Bill Gates (1955 CE)
9. The writer states that it is recommended to use technology wisely. Explain this

statement, suggesting three ways in which we can use it perfectly.

20
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10.Technology is a way to keep our bodies fit. Think of this statement and , in two
sentences , write down your point of view.
Answers 1. As a consequence, computers will increasingly run our lives for us. clUal Gudi
Liflyss Gjlal 4 ayjiw cywlg=ll
2. Your fridge will know when you need more milk and add it to your online shopping
list. AQHSIUl spidd @i ig pSI s g Lisd Loaic plojw dsalill
3. Vour watch will record your heart rate and email your doctor.
Ll Jalyig ol A Jisad Geludl
4. Many people are excited about the ‘Internet of Things’.
Ll Cuigil Jgs Jguuasio gulill aac
5. Criminals managed to access their passwords and security settings.
dilosl cralaclg ! Gllwsll Jgall gghhssy Jgopsall
6. it: the Internet | them : many people [ their : others ‘ other people *
7. security settings
8. 1 agree with this quotation because Bill Gates refers to technology as a ‘tool’ in this
quotation because he is emphasising that it is a useful and effective way of involving
children. However, in terms of actually making sure children learn, or of ensuring

children’s social development, teachers cannot be replaced. They are the most important

contributors to a person’s education, but of course they can use technology to help!
9.We can use technology wisely in different ways . For example, we can depend more on
our mental skills and raise awareness among people about how to use technology. Also,

we can enhance the activities which depend on human not technology .

10.1 think that technology is a way to keep our bodies fit. For example , smartphone apps

can be used to monitor how much exercise we need to do and how many calories we

burn . Also, interactive video games can be used to help us to keep fit. They are used

indoors and provide a healthy, active alternative to watching television.

complementary medicine: is it really a solution?

21
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1.There are many forms of complementary medicine. Write down two of them.
S il glgil Ll
2.Write down the sentence which indicates that many doctors study complementary
forms of treatment.

e Ll Iquupay bl s ail 1 s I Gl gugidl
3.Non-conventional medicine cannot work as a replacement for some treatments. Write
down two of them.
qui (Sj ) LOgUAIl A Q) Gl D] 3 T Q] =D s oS 1] s Lol
4.Doctors always turn to conventional treatment first. Why do they do that?

S UGl 25 L] 4s 5 7 ) bl
5. Quote the sentence which indicates that people didn’t use to study complementary
medicine formally.

Las el LT Gaunlya Vs ol gulill @il I s il Lol guyddl
6. Find a word in the text which means “illness”.

7. What does the underlined word in the second paragraph “arthritis” mean?

8. What do the underlined words ( pronouns ) refer to ?

9. Some people believe that homoeopathy is not a valid alternative to conventional
Medicine and it can’t be effective . Explain this statement , suggesting three bad effects
for this kind of treatment.

10. Ccomplementary medicine can’t replace modern medicine. Think of this statement,
and in two sentences, write down your point of view.

Answers Jlulsul
1. homoeopathy, acupuncture pul jSgllg Jlinll ¢iloll
2. These days, many family doctors study complementary medicine alongside
conventional treatments, and many complementary medicine consultants also have
medical degrees.

Ly Ciloldudr gAsslyg aldill il wilsy Sl wadl Gguiyay sibl plyl ad
3.1t can never substitute for immunisations as it will not produce the antibodies needed

to protect against childhood diseases. It also cannot be used to protect against malaria.

algahll ool an oy 19 prclholl Jso Jsg 4

22
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4. to ensure that no underlying condition is missed.
aals wagpall Goiw Jo aSLil
5. If patients wanted to receive this kind of nonconventional treatment, they used to have
to consult a private practitioner who was likely not to have a medical degree.
b dalauds cllog i gols gujloo puitiuyg oSl giloll ali gagpall aljl 13l
6.ailment
7. A disease causing painful inflammation and stiffness of the joints.
8. they : patients | who : 70 percent of patients | it : homoeopathy

9.There are many bad effects for this kind of treatment such as wasting time and money

Also , some kinds of homoeopathy have dangerous effects on patients . Another thing is
that practitioners don’t have medical degrees.
10.1 think that complementary medicine can’t replace modern medicine. For example , it
cannot be used for all medical treatments and can never substitute for immunisations
as it will not produce the antibodies needed to protect against childhood diseases.

Also, it cannot be used to protect against malaria.

e
< XX

Are happier people healthier - and, if so, why?
1. We can improve our children’s overall in the future in two ways . Write them down.
PADI0F pjil quiul a0 qub oilis LLABI AILS Juusi JS.00
2.There are some possible effects of anger on someone’s health. Write down two of these

effects.

23
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dsolle wuA QI Ll guis
3. Write down the sentence which indicates that scientists didn’t do any research to find
any relation between feelings and health in the past.
Jloj @xnllg s pelitnll o @A 3o iy S =lololl g pl @il Gl 5 il Glosl guyddl
4. Some scientists believe that bad lifestyle choices affect health negatively. Write down
two of these choices.
bloidl Sle Wl jS3l Ww asnldl AC HGF s sl b0l @il e slololl JA 0y
5. Replace the underlined phrase with a suitable phrasal verb that has a similar
meaning to it.
6. Find a word in the text which means “believing that good things will happen in the
future”
7. What do the underlined words ( pronouns ) refer to ?
8. Write three things ,mentioned in the article , that improve health .
9. The writer thinks that happiness affects health . Explain this statement , suggesting
three benefits of happiness on health.

10. “He who has health has hope; and he who has hope, has everything” ,by Thomas
Carlyle. Think of this statement, and in two sentences, write down your point of view.
Answers Jlblsdl
1. teach children to develop positive thinking, and to ‘bounce back’ after a setback, pUoj
CiLwSill 29 gjlgill Galoiwlg ilsyl uSai ughil Jlabdl
2. your blood pressure is raised and you can suffer from headaches, sleep problems and
digestive problems.

3. Until recently, scientists had not investigated whether there is a link between positive
feelings and good health.

4. smoking or lack of exercise 5. bounce back. 6. optimistic
7. who : the children | it : to live without worry | they : The researchers.

8. positivity, a supportive network of family and friends and an optimistic outlook on
life.
9.There are many benefits of happiness on health like having a better perspective on life

Also, choosing to eat well and exercise more often.
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10. 1 think that’s right because it is possible to feel optimistic about the future when one
is healthy. Hope for the future and a positive attitude are seen as, overall, the most

important things in life

Get Moving!
1. An increasing number of young people and adults are overweight or obese because of
many factors. Write down two of them.
Giowdl uluwl
2.There are two types of the exercise. Write them down.
Ll e lgil
3. Write down the sentence which indicates that physical exercise help in treating stress.
oAl o« ail LI s il dlosdl guyidl
4. What does the underlined word “obese” in the first paragraph, mean?
5. What do the underlined words “pronoun” refer to?
6. Quote the sentence which indicates that you can buy things while lying on the couch?
Jlally aclé ciilg S i 7 ail I GSSy il Lol guidl
7. What do girls usually refuse and what does that lead to?
14 o 7 Qubig il Ay gl €
8. Replace the underlined phrase deal successfully with with suitable phrasal verb that
has a similar meaning to it .

9. The writer states that an increasing number of young people and adults are overweight
or even obese. Explain this statement , suggesting three ways to overcome this problem.
10. Fitness leads
to health. Think of this statement and , in two sentences , write down your point of view.
Answers Jllsl
1. the growing popularity of fast food, which didn’t use to be as common as it is now.
Another big factor is lack of exercise.
adUYI Adig gupul plonl duoi gaj

2. Fast walking, and more strenuous exercise, like running.

LIS Joxillg laoll aasil gyjloig il
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3. In addition, exercise is a great way to cope with stress.
bonllgo Joloill dojly 4o (ypail
4. extremely fat, in a way that is dangerous to your health.
Aioudl
5. which : fast food | they : school children | They : Experts.
6. Before the Internet was invented, nobody had dreamt of online shopping, but now we
can buy almost anything without leaving the sofa.
29 g€ guuilly pls 2l o Crill ST Jud
7. Girls in particular often dislike PE. This can lead to serious health problems.
AUl ans Jgd)Sy dale Clidll
8. cope with
9. There are many ways to overcome this problem such as doing more exercise and
avoiding fast food. Also, regulate the time of the meals.
10. | think that fitness leads to health . For example , if we do regular exercise and take
care of our food , we can avoid the overweight which can lead to serious health problems
.Also, it is very important to have enough hours of sleep every day to be able to do our

daily tasks effectively

Health in Jordan: A report
1. There are many factors that made Jordanians healthier. Write down two of them.
G JiS] e Ji Jolge
2. Write down the sentence which indicates that most of Jordanian villages were supplied
with electricity and water.
slolly 389 S pall 255 pi @il I x5 Gl Aol uuddl
3. There are two factors have been contributing to Jordan’s healthy population growth.
Write them down.
s glSudl o7 Jo 7 Jndlw Jolgce
4. What kind of medical operation has Jordan made the most success?
JUl 0 asSLl e puiwl gui
5. What was the life expectancy in Jordan in 1965 and 2012?
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i S Gl L G5 Gies LS PSS
6. Quote the sentence which indicates that Jordanian doctors have been well-known in
the region .
o me slb Al s @il I s il ALl gyl
7. Find a word in the report which means “ decreased in quantity or importance”
8. What do the underlined words ( pronouns) refer to ?
9.The writer states that children in Jordan are vaccinated against many illnesses. Explain
this statement , mentioning three kinds of these illnesses.
10. Health conditions in Jordan are among the best in the Middle East. Explain this
statement and , in two sentences , write down your point of view.
Answers Jllsl
1. Advances in education, economic conditions alnidillg poill .4 paaill
2. Although there were remote areas of the country where people had been without
consistent access to electricity and safe water, almost 99 per cent of the country’s
population now has access.
slollg sy ASIly Lok oo d&uh oF Cuai Jul Lail dl ddli ({@blio agsq (1o pépl
3. The low infant mortality rate, as well as the excellent healthcare system.
jlinoll L snll pliaillg Adsioll cilidgll Jaoo
4. open heart surgery
T 9ianll wddll duloc
5.1n 1965 CE, the average Jordanian’s life expectancy was age 50. In 2012 CE, this average

life expectancy had risen to 73.5.

6. The reputation of Jordanian doctors has spread in the region, and now many more
patients come to Jordan for open heart surgery.
T gidall wldll ddool gayjdl ggily JSI O 109 Gpuidil bbbl G0 nw
7. decline.
8. where : remote areas of the country/ its : the country.
9. There are many kinds of these illnesses like tetanus , polio and measles. Also , they are

vaccinated against smallpox.
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10. 1 think that Health conditions in Jordan are among the best in the Middle East. This
because the country’s commitment to make healthcare for all a top priority. The number
of healthcare services has been increasing rapidly over the past years and 98 percent of

Jordanian children were fully immunized. Life expectancy had risen to 73.5 and infant

mortality rates have fallen down

glac 4 guyjai pUAT S8l Sl guil Aliw il

a

In the future

1.Scientists have developed brain implants for two purposes. Write them down.
and quir gldadl ¢Loall Gcljjlgygb slololl
2. Write down the sentence which indicates that experts are carrying out tests on a new
cancer drug that may saves lives of patients.
) g pull TULC AC eyl oo 1QILS slball I i il Lol puyddl
3. Usual cancer treatment has had some side effects . Write down two of them.
A Lo 5 Gl pudl e pliel €
4. There are three reasons mentioned in the text that damage brain. Write them down .
@ Lo & Loall $3Gi wiluwl clilid
5. Find a word in the text which means “a medicine or a substance used for making

medicines”
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6. What does the underlined word “ pill “ in the last paragraph mean ?
7. Why do neuroscientists use a special brain scanner called “ MRI”
gLloall pLS puwlo Jgoasiuwy wlncil slole I5lol
8. What do the underlined words “ pronouns “ refer to ?
9.The writer states that there will be many implications for the world if people live longer
due to improving life expectancy. Explain this statement , mentioning three bad
consequences for the increasing number of population.
10.Patients who suffer from cancer will agree to undergo new types of treatment . Think of
this statement and , in two sentences, write down your point of view.
Answers Jlblsdl
1. To improve vision or allow disabled people to use their thoughts in order to control
prosthetic limbs like arms, legs or hands, or operate a wheelchair.
SIS dyclin whbl pS=il paylSal plasiwi aolsdl Glskisdl Sgal 7lowdlg &gl T
pladulg
2. A new cancer drug is being trialed in Plymouth, UK, which doctors hope will extend the
lives of cancer patients and reduce their symptoms overnight.
all iyl Judig o poll Gus 220uw Ul ade gl gglol Wilhyy 4 alypsi pi ajas guc
3. sickness and hair loss.
Joudl glpusg GUiQll
4. dementia, a stroke or other brain injuries.
dhldsllg wapsl
5. drug.
6. a small round piece of medicine to be swallowed whole.
7. to communicate with some patients in a coma
8. that: brain implants/ their : disabled people | they : neuroscientists/ which : New
cancer drug.
9. There are many bad consequences for the increasing number of population like
increasing demand on food , water and natural resources. Also, greater pressure on

education and health care.
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10. 1 think that patients who suffer from cancer will agree to undergo new types of
treatment because they have suffered from the side effects of old kinds of treatment
such as sickness and hair loss. Also, they believe that new types of treatment may help

them .

The King Hussein cancer Center
1. Patients from other countries visit the KHCC for many reasons. Write down two of them.
1510 ol el Guiiiunn] s o1yl o Ol
2. Write down the sentence which indicates that The KHCC treats people from all ages.
Jlacull JS @ gLbpudl cesl Elloll Guitiun @il I s il Lol guyddl
3. How many cancer cases is the hospital expected to treat after completion of its
expansion? alloiS! JIs il = i 94ginll Gulsdl 2ac pS
4. What is the main difficulty do cancer patients who live outside Amman face?
bl H)0 esls il i) digonll 4 Lo €
5.Read the quotation. “Wherever the art of Medicine is loved, there is also a love of
Humanity. Hippocrates (460 BCE-370 BCE) Do you agree with it? Why/Why not?
6. Write down the sentence which indicates that Jordan has one cancer centre.
7. What do the underlined words ( pronouns ) refer to ?
8. What does the underlined word expansion in the second paragraph mean?
9.The writer states that Jordan has a great reputation in the area of medicine. Explain

this statement , mentioning three reasons why health conditions in Jordan are advanced

10. The King Hussein Cancer Center is an important facility that contributes to medical
tourism . Think of this statement and , in two sentences, write down your point of view.
answer Jllsdl
1. Patients are attracted by its its excellent reputation, lower costs.
uaassinll waguanllg a0 ouwdl dbuwlgy Jguas) ol
2. It treats both adult and paediatric patients.

GHoIldlg Jlabal 1S wllog

3.9,000 cases per a year.
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4. the journey to and from the hospital is often difficult .
arop alsyi
5.Ves, | agree with this quotation because doctors depend on love to strengthen their
relationships with their patients and that is so helpful in curing diseases. 6.The King
Hussein Cancer Center (KHCC) is Jordan’s only comprehensive cancer treatment centre.
7. it :The King Hussein Cancer Center | where : Amman [ which : educational centre.

8. the act of making something bigger 9. There are many reasons why health conditions
in Jordan are advanced like the commitment of the country to make health care a top
priority and advances in many areas like education , technology . Also, Jordanian
doctors are among the best in the Arab world. 10. | think that The King Hussein Cancer
Center is an important facility that contributes to medical tourism because of its highly
reputation and reasonable cost . These qualities encourage patients from other countries

to come and stay in Jordan for treatment.

Accident victim tests first artificial limb
1. Dennis Sorensen could do two things by using the new prosthetic hand. Write them
down. Lo LD sxall san sl dady G Gy s baiony
2.Quote the sentence which indicates the nationalities of the two scientists who
developed the new prosthetic hand. <lolQIJl i (I i uJJI alo=Jl (uuddl

3. How does the newly —invented prosthetic hand differ from old ones? ceiwdl M (QISF s
saall
4. Write down the sentence which indicates that in the near future, there is a plan to

replace old prosthetic imbs with new developed ones. sk g @il I i vﬂl alosJl puyddl
L Yl @Al
5. Why had Sorensen been using artificial limb? ielia y i) sw 23 1o [3L0)
6. Find a word in the first paragraph that means an artificial body part .
7. Why can’t Sorensen wear his new hand now ? Jul L@jlajjl <= 1 19l0]

8. What do the underlined words ( pronouns) refer to ?
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9.The writer thinks that scientists have developed many new important medical
inventions. Explain this statement , mentioning three new inventions that have
influenced the patient's’ life .
10. The new inventions can improve someone’s life . Think of this statement and , in two
sentences, write down your point of view.
Answer Julsl
1. Sorensen could pick up and manipulate objects, he could also feel them. pSsig NKdil)
LAy
2. The new hand, which was developed by Swiss and ltalian scientists, was a huge
improvement. Juuwquudlg gldbodl dbuwlgy Cygo gl
3. Itis with a sense of touch. (uoll julwsl]
4. It is possible that, in the not-too-distant future, similar artificial arms and legs will
have taken the place of today’s prosthetic limbs.
Lo pgad pipw W aiuo
5. He lost his left hand in an accident.
Jals ]

6. an artificial body part

The importance of Islamic achievements in history
1. There were many achievements that Jabir ibn Hayvan made. Write down two of them.
A Lo S gyl plsd Giljlsil elilig
2. Al-Kindi made his fame by working in two main fields . Write them down. 9ip SaiSll
lo@ Lo JuUdS pc aijfuu
3. why was Ali bin nafi’ called the “Black bird” ? <L g_dLi Ml wdl pl
4.Write down the sentence which indicates that Fatima’s learning centre is very
successful. ploj jSyo Jdl AdSliol aobld ail Il 5 il dlosdl guwidl
5. Fatima built a learning centre in Fez. How did she manage to do that? aidf Juj doblad
ACUl TS & J0G S o Tyl

6. What does the underlined word “mathematician” in the last paragraph, mean?
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7. Find a word in the text which means “someone who has a lot of knowledge about many
different subjects”
8. What do the underlined words ( pronouns) refer to?

9. The writer states that Muslim scientists made many great achievements . Explain this
statement , mentioning three fields that Muslim scientists influenced greatly in them.
10. In ancient times, reaching such high levels of achievements in comparison with the

present days is more difficult. Think of this statement, and in two sentences, write down

your point of view.
Gl
1. He is most well known for the beginning of the production of sulphuric acid. He also
built a set of scales which changed the way in which chemists weighed items in a
laboratory .
Hjlgall go deqaso g Cyusl yaols glil 1y
2. arithmetic and geometry.
dwaifllg ulw=l plc
3. Because of his beautiful voice.

Jeos aigo

4. This learning centre became Morocco’s top university, and it is where many students
from all over the world come to study.
LAiiy J0 @ dupoo dools JAdl
5. She used her father’s inheritance to build a learning centre in Fez, Morocco.
Ao nll 1A@ <Ll Lid Logsl Slpo JoaSiwl
6. a person who studies Mathematics to a very complex level.
7. polymath
8. there : Cordoba /which : the building of the Andalus Mosque/his : Al-Kindi Critical
Thinking :
1. There are many fields that Muslim scientists influenced greatly in them like medicine
and geography . Also, they had influence on the area of farming.

2.1 think that in ancient times, reaching such high levels of achievements in comparison

with the present days is more difficult because there was great difficulty to access
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information. Also, if someone wanted to innovate something he had to make hard efforts
to achieve his ambition .
Masdar City — a positive step?
1. Megaprojects are designed for two certain purposes. Write down these two purposes.
Lo@ Lo Jlaaffl «indl adf Jnoo
2.Write down the sentence which indicates that not all Megaprojects are similar.
ACGiD miid add ail I 5 il alosdl alosdl guyidl
3.There are many types of megaprojects. Write down two of them. GGU0QIl & tis glg.il CL
cULif
4. Because Masdar city will be a car-free city, the city has been designed to have different
types of transportation. Write down two of them. LAilplgo Jle
5. Masdar city has a unique quality that makes it the first city of its kind. Write down that
quality. and gad 35 pioji 13lo]
6. Who are the current residents of Masdar city?
LAilSaw (0
7. Find a word in the text which means “ judged (something) with disapproval; evaluated
or analysed”.
8. What do the underlined words ( pronouns) refer to?

9. The writer thinks that mega projects should have many purposes in order to be
attractive and popular. Explain this statement, suggesting three purposes of such
projects.

10. Masdar city is a beneficial project for the community and environment. Think of this
statement, and in two sentences, write down your point of view.

Answers Gblsdi
Answers 1. to encourage economic growth and bring new benefits to cities.
dolnidl 94lio wl=g Alaidul Qusuit
2. Although mega projects vary in terms of size and cost, they are all, by definition,
expensive, public projects that attract a high level of interest and media coverage.
ol G il wasq GalSill Jiloii Lail Ul wiguonllg pssil acgio gyldioll ail 4o péyl

3. motorways, airports a9juu (Gibg Jljliano
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4. Electric, driverless cars and cycling (§ilw jga Gljluwlg dulip@Sdl GUS poll
5. Masdar City, which began its development in 2006 CE, will be the world’s first carbon
neutral, zero-waste artificially-created city.
Ligys daaloio aijao Jg! €9 2006JU iuw jano aijao Gl
6. students at the Masdar Institute of Science and Technology.
disglisillg drnloll Guuwgoll wilb
7. criticised
8. they : megaprojects /lwhose : a university [ It : the city (Masdar City) Critical Thinking :
Gl
1. There are many purposes of such projects. For example, they can be popular attraction
and combines educational value with scientific interest. Also, they can be centres for
research and experiments.

2.1 think that Masdar city is a beneficial project for the community and environment. For
example, it will depend on renewable resources and will reduce carbon footprint.
Eventually , this will save natural resources and keep the environment zero-waste

A founding father of farming
1. Ibn Bassal was specialized in two fields . Write them down ?
Jloy gl gadsl py
2. Where can Ibn Bassal achievements be seen today?
Qiljlsil Spi o
3. Ibn Bassal used many ways to irrigate the land. Write down two of them.
Pl Sg) =i
4. Write down the sentence which indicates that Ibn Bassal was a polymath.
aoulc ail I s il dlosdl guyidl
5. Quote the sentence which shows the most important part of Ibn Bassam's book.
QUS g0 sf5 pdl guddl
6. What does the underlined phrase hands on mean?
7. What do the underlined words ( pronouns) refer to?
8. Ibn Bassal explained how to grow many types of trees and plants. Write down two of

them.
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9. The writer states that when farmers followed Ibn Bassal’s instructions and advice the
land produced enough food for the fast-growing population. Explain this sentence,
suggesting three ways in which farmers can increase the productivity of the land in

Jordan.
10. The area around Toledo had a fast-growing population . Think of this statement and,
in two sentences, write down your point of view.
1. botany and agriculture.acl)il cadlwl
2. In Spain. Liluwl
3. finding underground water and digging wells
JUul pa=y dr6gl alpall alsyl
4. Ibn Bassal was a writer, a scientist and an engineer who lived in Al-Andalus in the
eleventh
century CE.
Lwaifog Lolle Lils
5. Perhaps the most famous chapter of all was the one that described how to treat
different types of soil.
aalisnll ayill ¢lgil (e Gaxiy Sl algnd pauil Loy
6. field working [ working by hand.
7. who: Al-Ma’mun [ which : sixteen chapters/ that : The irrigation systems
8. herbs and sweet-smelling flowers. jl@julg wlwcil
Critical Thinking :

1. There are many three ways in which farmers can increase the productivity of the land
in Jordan like providing advance irrigation systems and using modern methods of
farming. Also, they can avoid over cultivation in order not to exhaust the soil.

2.1 think that The area around Toledo had a fast-growing population because it was very
prosperous place producing a lot of food as a result of Ibn Bassal’s irrigation systems.
As a result, people could be healthier and more able to provide healthy atmosphere to

their children.
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37

dyjliglt cilslanall

BUILDING A BETTER

VOCABULARY

12 pfo

1. rely on :to have trust or confidence in something or someone (,1C 2ni9j
2. bounce back: to start to be successful again after
a difficult time
Jjlgi apaiuy
3. cope with : to deal successfully with, or handle,
a situation
g0 Jolo
4. focus on : to direct your attention or effort at something specific _lc jSu
5. communicate with :speak to 20 Jolgiy
7. Take place: happen [ occur Ca=sy
8. Wake up: cause to become awake I Gy
9. Settle down: live orderly life jaiuy
10. Meet up: to get together with somebody Julai

11.11. Look around: to look in several direction ‘i
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12. Get started: begin doing something i *
Jlglill alslbno 1255 pfo
1. feel blue: feel sadjj>
2. see red: get angry un ¢
3. the green light: permission a44lgo
4. red-handed: in the act of doing something wrong [uld.c (1o Cday
5. out of the blue: unexpectedly g_ag.wp_c

6. a white elephant: a useless possession Godli u¢ &Sio

Hslbnall gy Llgpall 6o Sjgmo
1. share ideas : . give ideas to others
compare ideas : show differences between ideas
2. create a website : construct a new website contribute to a website : offer things to a
website
3. research information : find information needed present information : give info in a
presentation
4. monitor what is happening : watch closely what is happening
find out what is happening : .discover what is happening
5. to give a talk to people:give a speech to people
talk to people :discuss things with people -
6. show photo :display photos

send photos :post photos

1- Replace the underlined words with a suitable idiom from the box.
Jgainll 3o wuulio wlhno Jlooiwl b Laisi il GilolSHl Jagiwl.
feel blue/ see red the green light [red-handed [out of the blue [a white elephant
1. The child felt sad when he learned his parents had canceled the holiday to Egypt.

2. The man was caught inside the jewellery shop in the act of doing something wrong.

3. The new dam cost a lot of money, but it will become a useless possession because of

its location.
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4. You can’t start construction until you get a permission from the municipality.

5. When anybody search my smartphone, | get angry.

6. Then unexpectedly, a lion appeared coming out of the bushes.

1. felt blue 2. red-handed 3. a white elephant 4. the green light 5. see red 6. out of the blue

dysagaill alls gl

Phrasal Verbs
phrasal verh Pt
1| fillin e ) s
2 | giveout (s ghna) uay : .
3 |wmon (Dot v, nas) Jnis |+ Cirele the correct verb to complete the collocations,
4 | connect with e ooy Y : ) -
S Loow shout T I catch/ take solmconc s altention
6| gt started oy /Ty | L get/ catchan idea
7 | look around B ki A Lapdaha B )
8 woct o 5 3. lake/ get w mlcrgl in .somclbmg somebody
9 | sctile down S | 4, spend | dotime doing something
10 | take place L f
11 | wake up =T §. make ! attend a course
@kl Ll Y
collocation -

1. | catch (someone's) attention Lo gt sl s

2, | get an idea bR il

3. | take interest b o sy Ay

4, | spend time Sy gk

5. | attend a course B ek

g <hlaal )’.Lq.“
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apparatus equipment T
artificial Prosthetic I ]
appendage Limb ok |
Sponsor Fund Jis ‘
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2-Complete the following sentences by using the most suitable word from the box. There
is one more word that you don’t need.
web hostingddlraiwl, identity fraudunsaull JIsdily Juisl, post i, compare ideas Gijléo
JISalll, userspasiwo, contributean®dlun, access Jgmrg
1. You need a................ service so that your website could be accessible by other people.
2. The crime of using someone’s else personal data is called.............. .
3.ldon’t allow others to.............. on my Facebook page.
4. The website is very easy for ................. to interact with each other.
5. Students can .......... to the website, so for example they can post work, photos and
messages.
6. Many bank customers now............. their accounts using the internet?
1 - hosting web 2- identity fraud 3- post

4-users 5- contribute 6-access

CJll ypoil 12 125 pled
1. You are advised not to give out personal information on the Internet.
2. Fill in the application form and sent it on our email address.
3. If you want to protect your system, turn on your computer’s firewall.
4. A good manager should know everything about the organisation.

5. You need to download a messenger to connect with your relatives and friends.

QUK Gupnill
viable Jlé  alien ¢ conventional Sauldi sceptical ¢lSauio
complementaryk_,_LumE.j'

1. Acupuncture and herbal treatment are parts of ---------------—-- medicine.
2. Solar power is one of the -------------- solutions to reduce pollution.
3. Some scientists are-------------- of the claims of Darwin’s theory of evolution.
4. When I first visited Paris, I felt it SO--------------- to me.
B Itis ---——————-- in Jordan to serve Mansaf in wedding parties and other social occasions.
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1. complementary:4. alien 2.viable 5. conventional: 3. sceptical

JUD SN G padll
media, exchange, blog, calculation, floppy
1. You should design and create your ........ carefully so that you can attract more readers

and visitors.
2. Although sociail........... has brought millions of people together, people are getting more
and more feeling of isolation.
3. Until the invention of the ........... disk, it had not been possible to transfer data between
computers.
4. Communication for personal and business purposes has become easy through email

1.blog 2. media 3. floppy 4. exchange
waludl (il
calculation, Gubus ddoc settingsdilalacl, blog,digao whiteboardhiSno Y
accessjgng
1. You should post interesting topics so that people will come again and again to visit
YOoUl-----————mmmmmmmme e . 2. My bank has installed a new system that made it easier to---
———————— the money in my bank account.
3. You can control what information you want others to see via adjusting your security --
4. The computer can do millions of --------------cccceeen s each second

1. blog: 2.access 3. settings:(security settings ) 4. calculation

bl yyoill
Choose the suitable item from those given in the box to complete each of the following
sentences and write it down in your ANSWER BOOKLET.
gallery, talent, apparatus, red-handed , biological waste

1.Nawa showed a ---------------- for music and playing the piano at an early age.
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2. S0me---=-=====ccuuuun is contaminated and dangerous for human’s health.
3. Agood Gym should have special exercise---------------- .
4. You can see many of the most famous paintings in an art............. in Paris

1. talent2. biological waste 3. apparatus 4. gallery

Quludl G p0ill
Choose the suitable item from those given in the box to complete each of the following
sentences and write it down in your ANSWER BOOKLET.
waterproof, out of the blue, strenuous, dental , attending
| P care, such as teeth whitening, is not generally covered.
2. My father has decided,.................... , to travel to Saudi Arabia to look for a job.
3.t rains a lot in that area, so you’d better take a.................. coat.
4. 1l am thinking oOf .................... a course on computer science to improve my skills.
1. Dental2.out of the blue3. waterproof 4. attending
oL il
Complete the following sentences by using the most suitable word from the box. There is
one more word that you don’t need.
share, create, contribute, solar, floppy
1. Ccommunicating through the Internet has helped many people to ideas.

2. When was the last time that you used a disk to store some data?

3. 0ur school decided to a school website. | think it is a great idea.

4. Because of the high costs of oil and gas, a lot of people will turn to energy.
el Ol I

1. share: 2. floppy 3. create: 4. solar:)
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— Bgillllldhm funnu = %_,‘ green§ B =’”'d -
handsumeuscarlm = “golden "greasu g5 g grand kind
cmatjectivess
xucltmg EE E
= £ = ==
£ Curly i =) =
s UIEt 8 S 55 e ™S joyful
%g = mgglu? L—E flllluue“nwunung §’§ =

harsh e = QLD hus B 2 5

GLaiwl
pwl (GLaiwl gl

3 > sl s Oldn Sl 2 (a8 iy o) i il ol
(ism- ance ship or ment tude hood ity tion ure or doom )

(6}l g dapooll clgal 29;. 1
Slall guy gl bpdy (the [ a [ an
Al

Gigal gu $1pdll <Ls gl Lyl. 2
Wiy g das g0 daponll g 4jSill
SSS1 AR G0 pli

(G )3l wagys 297 pwill 94y
in, on, at, with, without, )
about, from, of, by, against,

(into, for

I35 g AStoll Ulan 290 pudil 94y

her, their, your, its
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A g Gjluirgll sLowl 297 pudll il aar ¢lpall (Guw 19]
this , that, these, those :
pwl e laghop ¢hiall gls 13l little , ( :Jio GoSdl Gloa=0 29]
and much, few , some, many, a
lot of , no, lots
§g.L;JI Ol Aliw I clquua e vz:mo uli
Jloc AUSGT 3 plai sgal
0789077686

-ent/ant:/-able/ible:|-ful:-ous:-ive:-ic:-al:-less:-

ary:-ory:-an:-ect:-ed:in/-ing

Jloaill 29y Lyl G4l passiud
appear, look , seem, ( :audlil
feel, become, get, sound ,

grow, find

: M9( be to ( digiuSll Jlodl 29,
is, am, are, was, were, be, (

been, being

}: Jio ly g daiinll dljjooll 20
extremely , completely ,

QUL wljjonll a0; danll 9 di
be: { Jlodl asl laduuy Jl b uiy
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scientifically quite , very , too, So
Jfb}ﬁq slowdl Ju6 aanll 9ai| gu Shiall sIs gl Lyl aandl 9 4.
ol €140l 91 Jio dijldnll cilgai
: More/ less ................. than As
................ As
The most [ least .................. thing
ly wapAll

dlol dildi 6 Lyl wapdadl 94y
gl JIsJl gl olioll GloiSo

alo=Jl dilas U.a gl}.c'ul sl 191

Jodil s Lodlg & 1dll sLs 1]
Jio Lyl Jodllg acluoll

S1all sl gl clAs waphadl gdy.
aanll g aas o be Jlodl Ju
Sp5ldas go

A€ laghoo Lyl cliall <L 131
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and g Wb

Jodll

J\.t; )43\ sale

ate - isel :/ - ify:-en:-ide:-ieve:

( oud il adSall Jlodll 20y
can, could, }:Jio( modals
shall, should , may , might,
will , would, must, used to,
have to, has to, had to, be

{ going to, ought to

djjaonll to a9y Lyl Jodll 9d;

Lagpadl 29) ¢lAS Jodll 94y, Jelall a9 iyl Jodll 94y

usually, }:Jio sl oo gl pwl JLS slgw G pulo
sometimes , often, normally ,
always

0 do Jodll a9 Lyl Jodll 94y

Al g Gyl L@iils 910
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Guided Writing

Read the information in the table below, and then in your ANSWER BOOKLET , write two sentences about -
Use the appropriate linking words such as: and, too, also, etc

Ways to reduce water usage

-take shorter showers

-wash your fruits and vegetables in a pan

-turn off the water tap while you wash your hands

There are many ways to reduce water usages such as taking shorter showers and washing your fruits
and vegetables in a pan, too. Also, another thing is turning off the water tap while you wash your hands

Reasons that make people leave their home countries
-seek better life

-complete education

-find better jobs

-learn about different cultures

There are many reasons that make people leave their home countries such as seeking better life and
completing their education. Also, another reason is finding better jobs and learning about different
cultures.

What should happen to motorists who break the speed limits ?
Ban from driving

Fine for driving fast

Put in prison

There are many things that should happen to motorists who break the speed limits such as banning
them from driving and fining them for driving fast. Also, another thing is putting them in prison.

How to improve your English language ?
Listen to English programs

Read English newspapers and magazines
Join English courses regularly
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There are many ways to improve your English language such as listening to English programs and
reading newspapers and magazines. Also, another way is joining English courses regularly to improve
your English language.

Successful people
-work hard

-communicate openly
-welcome change
-learn new skills

There are many qualities for successful people such as working hard , communicating openly and welcoming change
oo . Another quality is learning new skills as well. / Successful people work hard, communicate openly and
welcome change, too. ----

Why do people use the internet websites ?
Buy goods

Book holidays
Pay bills

1. There are many reasons why people use the internet websites such as buying books and booking holidays . Another thing is
paying pills.
2. People use the internet websites to buy goods and book holidays as well. Also, they use them to pay bills.

3. There are many reasons that make people use the internet websites such as buying goods and booking holidays. Also, another
reason is paying bills.

Ay galll Caills ) Jaia

Language Functions

word / phrase function
In this way
As a consequence

1 Therefore Indicating / expressing
On one hand, .. On the other hand, concequence
In spite of this, ... / On the contrary,
Conversely,
However
2 Whereas Indicating opposition
Despite
The aim of this report is to This repont
Introduction
3 examines In this report, [...] will be .
Introducing ideas
examined
= I'here are more than |, | well-equipped health

centres in [name of town|

Almost three-quarters of the population are
kK rcgulur users of chnmng mformation
& The number of | .| has declhined/increased
since

- |date].

It appears that This results in Itas
recommended that The best course of Falking about Conclusion
action Recommendations
_would be to
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